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Topic:- Physics

1) A boat is sent across a river which is flowing with a velocity of 8 km/h. If the resultant velocity of the boat is 10 km/h, then the
velocity of river is : /

ggnaﬁwq'cﬁ%w WSIT STt & S 8 fopei/aieT & 31 & Iardt g1 afe =g &1 aRomdt 3 10 feii/ger &, @Y a1

1. 8 km/h / 8 foHi/Aer
2. 6 km/h / 6 fpH/EeT
3. 12 knvh / 12 feii/eer

4. 10 km/h / 10 Toeii/EieT

Correct Answer :-

« 6 km/h/ 6 fpui/Eer

2) A block of metal weighing 2 kg is resting on a frictionless plane. It is struck by a jet of water which releases water at the rate of
1 kg/s and at a constant speed of S m/s. The initial acceleration of the block is: /

2 f3 U ao qTel) UTg 6T U gheT, U THURIYT JHdd UR IET g3 & | 98 UMt F ST Y e g ot 1 frnA st R
3R 5 MA F FFReR T1a @ 59 e srar 81 ghs &1 et aror 8:

1.3.5 m/s? /3.5 TR2
2.2 m/s? /2 HiA?
3.2.5m/s2 /2.5 T2
4.3 m/s? /3 Hi@A2

Correct Answer :-

. 2.5m/s2 /2.5 HA?

3) The surface tension of soap solution is 70 x 10~ N/m. The surface energy of soap bubble in air of radius 1 cm is: /

TIgH & FAea= BT o6-a91d 70 x 103 N/m 81 3@ 1 A9t Broen &} gar § 19 & gaga &1 Jos Sl g
1.1.76 x 10747

2.0.088 ]

3.0.088x 1047]

4.0.176 J

Correct Answer :-‘

o 1.76x 1047



4) Above the threshold frequency, as we increase the frequency of the incident radiation, then: /
THTTIT mgfel & HUR, oI &t gH srmufard fafezor & sigfr &1 gerd €, ai:

1. the work function of the metal increases / YT BT PRI B[ Gﬂ?ﬂ%l

2. the intensity of the photo electric current increases / uaa‘mégq?r %mraﬁ%ﬂamaa S]] %I

3. the kinetic energy of the photo electrons reduces / UHIIRIS sﬁagﬁ ! A ol HH EESIGH %I
4. the kinetic energy of the photo electrons increases / UHIRIEB s@lazjﬁr DI TS SHolf d¢ S]] %I

Correct Answer :-

« the kinetic energy of the photo electrons increases / W%ﬁﬁ@ﬁ CHRIGSATS! G_Gf\_xﬂ?ﬁ %I

5) Three bulbs of 40W, 200V; 60W, 200V; and 100W, 200V are used in a shop. Which one of them will have maximum
resistance? /

mmaﬁhow 200V; 60W, 200V; 3fIX 100W, 200V T TN forar ST 81 39H & {5 Te &1 siftrpad
Y BIM?

1. All will have the same resistance / Gt & UfaRIer FH Bxl?f
2. (100W, 200V) bulb only / FHad (100W, 200V) dcd
3. (60W, 200V) bulb only / Had (60W, 200V) dcd

4. (40W, 200V) bulb only / AT (40W, 200V) Teq

Correct Answer :-

« (40W, 200V) bulb only / BT (40W, 200V) Fed

6) The graph which represents the variation of intensity of magnetic field ‘B’ with distance ‘r’ due to a long straight thin
wire carrying a current is: /

TG, S YRT YATRd B aTd i W& Uqa IR & BRI P T Jab1g &7 B’ B a1 i far g=ifars:
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4. —

Correct Answer :-

7) The energy produced when 1kg of matter is completely converted into energy is: /

W 1 frarumy ugrd ot @ve @ St & ufvafda o= fear wimar 8, 9t sanfea =it gt 2:
1.9x10'7

2.9x10710]

3.3x10710)

4.3x10'0J

Correct Answer :-

« 9x10!67

8) The escape velocity of an object projected from the surface of a given planet depends on: /
a8 T4 g F Tag A AT TP 9% BT A 3 59 R R srar g

1. Direction of projection only / &I YA ! =M

2. Both mass of object and that of planet / %] Td Ug Ml & GTEE

3. Mass of object only/ Had qEJ hT HHH

4. Mass of planet only / Had Ug BT GHHM

Correct Answer :-

o Mass of planet only / P d¢ Ug DI GAHI

9) The power of a pump which can pump 200 kg of water to a height of 200 m in 10s is (g =10 m/sz): /

TP UHg 1 fRT S 109 200 fHUT ST BT 200 ¥ Pt SATE T T B bl & (¢ = 10 HA2):
1. 80 kW

2. 4kW

3. 800 kW

4. 40 kW

Correct Answer :-

e« 40kW



10) The plates of a parallel plate air capacitor are separated by a distance ‘d’. It is fully charged and disconnected from the
charging battery. If the distance between the plates is now made ‘2d’, then: /

TP MR Wie gaT SR P& <@ g8 gRT et 1 74t | g g ave @ smafrd fvar war ok =afitfn e @
ST B foar ) afe wiel & i 1 g 3w 200 FR S, 9

1. The energy density of the capacitor remains unchanged / GYTRS &1 STl BTd Sufafdd Tear gl
2. The energy density of the capacitor increases / J&T A BT STl g EE) \‘Iﬂ?‘ﬂ%l

3. The energy density of the capacitor decreases / TR BT ol T Ue ST %I
4. The energy stored is decreased as capacitance has increased / Tufea Foll BH H Gﬂ?‘ﬂ% Fifas e d¢ Tﬁff%l

Correct Answer :-

« The energy density of the capacitor remains unchanged / Gl X BT STl U Sufafda ed %’I

11) The time period of a particle undergoing SHM is 8 seconds. It starts motion from the mean position. After 1 second, its
velocity is 1 m/s. The amplitude is: /

SHM 3 oA 9Td U7 &1 T 3afY 8 Ahs g1 T8 1 fRUfA | 71 = Fvar 211 s & 16, 3HS1AT1 WA 8l
3TITH gR:

1.1.5m/1.5H
2.12m/12#t
3.14m/ 149

4.1.8m/1.8H

Correct Answer :-
« 1.8m/1.8H

12) The frequency of oscillation of a simple pendulum suspended from the roof of a lift when the lift is allowed to fall freely
is:/

forre &t oa A fHdfd e WRa diae @1 Sia- ot gy T § 99 it TWads & u 9§ i 3t @
1. Infinity / 3d

2. Zero /YA
3.2Hz

4. 1 Hz

Correct Answer :-

13) Laplace corrected Newton’s formula of velocity of sound because sound waves in air: /
AT A e & @i & 371 F G &1 Tt fovar aifes gar d afy a3
1. Are propagated adiabatically / IS TY F IR B B

2. Are transverse in nature / Wﬁf e} STHURY =]
3. Propagate isothermally / gram yaffa g g1

4. Move with a low velocity / PH CUEELGI % |

Correct Answer :-
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¢ Are propagated adiabatically / &% U <1 Adlikd gldl g

14) Imagine that the usual vibration magnetometer experiment is conducted at one of the magnetic poles of earth without
the presence of any other external magnetic field. The period of oscillation is: /

FHeuT ST 6 forslt off a1et Jaata & 3t SufAfa & T gt & gao iy yat & 9 Ue R 9= sue
YaHIHTYT TART a7 ST 8 | Sie T SR

1. Infinity / 3id
2. Zero /YA
3. Equal to double that of geostationary satellite / '{-@R JWIE & G 1 7 % WER

4, Equal to that of a geostationary satellite / H;@R JUUE & SRR

Correct Answer :-
« Infinity / 3Hd

15) If the kinetic energy of a body increases by 300%, then the percentage increase of linear momentum of the body is: /
Tfe T Mg 3t i 91t 300% 9% Te1S AT 7, 9 Frema & IRaw Wi o) ufawma i gl

1. 300

2.50

3.200

4. 100

Correct Answer :-

« 100

16) If the temperature of the conductor and semiconductor is raised, then we observe: /

W T AR fares ST ATIH 9erT ST 7, 9 89 eEd

1. Conductivity of both the semiconductor and conductor decreases / e MR AT Sl &I ATeiedl ged g
2. Conductivity of both the semiconductor and conductor increases / 31efaTeTe 3iR AT aHl o ATcrehdl EIE?ﬂ%I

3. Conductivity of semiconductor decreases and conductivity of the conductor increases / efATed B TG Tl § R AP
EAICISERICECIES

. . . . .. (o et
4. Conductivity of semiconductor increases and conductivity of the conductor decreases / SIUTTAD CEINES] dedl ?»’ 3R D

P eIl gedl gl

Correct Answer :-

. . . . . e (ol ot
« Conductivity of semiconductor increases and conductivity of the conductor decreases / SIUTITAD P APl edl % 3R T

P ATl gedl g

17) If the error in the measurement of radius of a sphere is 1%, then the error in the determination of volume of the sphere
will be: /

gfe foredt e &) e & A # 3R 1% B, 9t Mas & smaas & Hufor & 3 gnf:
1. 2%
2. 4%

3. 1%

Page - 5



4. 3%

Correct Answer :-
e 3%

18) If the refractive index of the medium with respect to air is 1.5, then the critical angle for the medium is: /

e ga1 P e A HIH BT AUgdi®, 1.5 8 a9 A1HH P forg Hifdes Hior ghm:

19) Under the same conditions of pressure and temperature, the RMS velocities of hydrogen molecules and oxygen
molecules are measured. The ratio of these velocities will be (assume ideal behaviour): /

319 3R aruw @) g fRufaat 7, srgsio sl SfiR Sifefis Srofaii & RvS 39 HTY ST &1 31 a9 T SrguTd
BT (3TeR UAER ATY) :

1. 1:8
2. 1:4
3. 4:1

4. 16:1

Correct Answer :-

20) When a dielectric slab having dielectric constant 2 is introduced in to the region between the plates of a parallel plate
capacitor having a capacitance ‘C’, then the new capacitance will be: /

W9 2 WRIAGAdIP aTdll Tb URTdgdd Ug &1 ‘C’ UTRGT aTdl T iR We QUi 31 Wel & dta & 89 8§ garfase
e <mar 8, @ Tt enfar g

1.2
2.C

3.2C

2|0

Correct Answer :-

« 2C

21) When same load is applied, extension of two wires is found to be the same. Their lengths are L; and L, and their area of

cross-sections are A; and A,. The ratio of their Young’s modulus is: /
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uid AHIA HIK U ad Iedl ] dl gl dIXT @ 1ddi) SAHIA YIS Y oaP] adigdl Ly Sl Ly & Sk oA SigUsd @lc @
AFEA A, 3R A, T 1 3T T AIUIB] BT AU 3 :

1L AL,/ AL,
2. ALy T AL,
3.ALy/ AL,
4. AL /Al
Correct Answer :-

® A2L1 /A1L2

22) When dipped in a liquid of refractive index 1.4, the resolving power of a microscope will: /
1.4 TIPS & TH XA A a1 W, Th JEASRI B fqWe grram Il

1. decrease / PH E)T

2. remain the same / TH &1

3. be doubled / G &1

4. increase / 9¢

Correct Answer :-
 increase / 9@

23) A wheel making 40 revolutions per second is stopped in 40 seconds. The magnitude of angular retardation (assuming to
be uniform) is: /

ufa Yebs 40 URHHUT H T2 Th Ul Y 40 Yebgq A AT SI1aT & | HIVNG Hel (THIAT HIHSBR) ST YRHT0T -

1 .
— rad.’s?
1. JT

2 4 wradss
3. 7 rad:s?

) ‘e
2 rrad's
4.

Correct Answer :-
2 wrads?

24) A bus travelling the first one-third distance at a speed of 10 km/h, the next one-third at 30 km/h and the last one-third at
50 km/h. The average speed of bus is: /

TS T9 UYH UD-fagrs g3 10 fpwil/eier ot 9ra R, orTelt ue-fagts 30 fpieer w 3 sifaw wo-faets so famfiaer
W Ag Bl 2| a9 DI I g:

1. 20 kn/h / 20 fpi/eeT
2. 17 km/h / 17 foeii/eer
3. 18 knv/h / 18 TopHI/EeT

4.19.57 km/h / 19.57 fpHt/der
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Correct Answer :-
« 19.57 km/h / 19.57 fopHi/AeT

25) A particle of charge 2C enters the magnetic field of 2T with a velocity of 5m/s along the direction of the magnetic field.
The force acting on the charged particle is: /

2 C 313X FT TH I, GaH1g &F &1 G A s MRAF AT A 2 T F Yoo 19 &7 | 7a< a1 8 | STl $UT R
FRIGR 94

1. ION
2. 20N
3.0N

4. 40N

Correct Answer :-

26) Four identical point charges Q each are placed at the vertices of a square of side 7°. The net electric field intensity at the
center of the square is: /

TR Q TR TR A g Yot 4’ & T a7l & Ml W 3@ o 8 1 a1t F Fg W g igaa & a1 Faar @:

1. Zero /Y

! 2Q12

N
ey
=
m
(=]
p—

1

202
ey

3

_6Q"
N drney1?)

Correct Answer :-

27) A composite colour which consists of red, yellow, green and blue is sent through a glass prism, the emerging colour seen
at the base of the prism is: /

TP UgE 1 R e, N, 8 ok a1 AR €, &) ve i & e & areaa § Ao oirar 8, fisd & smarR w®
SURAT T I AT &:

1. Yellow / Gtall
2. Green /&Y
3. Blue / Hrell
4, Red / <ldd

Correct Answer :-

« Blue/Hd

28) A constant torque of 20Nm produces 5 rotations on a body of mass 10 kg. The work done on the body is: /
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20 Nm @] QP IR POl (UdU®), 10 Ip Al dHIA D RPp I4PIY U S gUIH1 ScHA PRdl G| P[] U IPpY] Hl @ld &6
1, 400 T

2. 200w T

3,507

4, 1007 J

Correct Answer :-

o 200m7T

29) Two rotating identical fans have their angular momentum in the ratio 1:4. The Kinetic energy of rotation of them will be
in the ratio: /

3l Uit TH AT UET & HIUNT HAT 1:4 F SJUTA A § 1 3P YU B1 el SHelf $9 37UTd & gR1t:
1. 1:4
2. 1:16
3.1:2

4. 4:1

Correct Answer :-
o 1:16

30) Two charges +10C and -10C are placed at 20 cm apart. The potential at the center of the line joining two charges is: /

Sl AT +10C 37T -10C, 20 A Y g8 TR T T | 3 AN HI s I8! W1 & g R fyva 3:
1.2V

2. Zero /

3.-10V

4.10V

Correct Answer :-

31) Which of the following is NOT a unit of self-inductance? /
Freafafes 7 9 o9 W @ikea 1 57 76 82

1. Henry

2. Als

3. Webs/C

4. Web/A

Correct Answer :-

o Als

32) Which of the following is a dimensionless quantity? /

Page - 9



I14Ictidd H i DI Hl 1dHIGIA RTIKI &2
1. Stress / Ufdaer
2. Torque/%[(aatﬁ?)

3. Strain / -9
4. Energy / Sl

Correct Answer :-

e Strain / dqId

33) Which one of the following statements is correct in the case of step up transformer? /
o T TFABRR & TR § AT 4 S s e ey @ 82
1. In a step up transformer, the output voltage is less than the input voltage. /
TP F TR H, i dieedr, SiTd dieedl I 9 gkl |
2. In a step up transformer, the output voltage is greater than the input voltage. /
% SR TRIBR H, e dieedr, SmTd dieedr § ofYe g 81
3. In a step up transformer, the output power is greater than the input power. /
T S CIhR &, et wifds, ommd wfda @ it Bt 21

4. In a step up transformer, the output current is greater than the input current. /

TP AR TRABIER &, F1 4RT, ST oRT ¥ ¥ it 51

Correct Answer :-

 In a step up transformer, the output voltage is greater than the input voltage. /

TP I AR H, A dieedr, 3MTd dicear § 31 gidt 81

34) Which electromagnetic wave has the wavelength range 0.01 to 10 nanometers? /
fru fagaa graeta o § ¥ 3af wRIR 0.01 3 10 AR 82

1. Gamma rays / T oot

2. X-rays/ QER:[—%

3. UV rays / UV TR0l

4, Infra red rays / 3{dxdd fopvol

Correct Answer :-

o X-rays/ QEFH-%

35) At what height above the earth’s surface, the acceleration due to gravity decreases by one percent (given, radius of earth
= 6400 km)? /

q@aﬁﬁ;)ag%wﬁmﬁ”mﬁmw&m%mmwuﬁmwww%@WW%,qzéﬁaﬂﬁmT=
6400 ?

1. 16 km / 16 fmH
2. 80 km / 80 fbHit

3. 32 km / 32 et
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4. 640 km / 640 [ HI

Correct Answer :-

e 32km/ 32 fpdt

36) To get a virtual, erect and enlarged image of a given object, we have to place the object in between the: /

ot &t TS avg 1 smHT, e 3R ufvafRfa ufdfdie ur B & g, g axg &t F S FTETam
1. F and 2F of a concave lens / Th FAT AT B F AR2FF AT H

2. F and 2F of a convex lens / T% ST ¢ & F 37 2F

3. principal focus and the optic centre of a concave lens / TUdh el SRk qJs1 By 3R Iy 7

4. principal focus and the optic centre of a convex lens / Tdh JIc] EE:D qJs7 BIHY 3R Iy 7Y

Correct Answer :-

« principal focus and the optic centre of a convex lens / & 3ad a1 & qJs7 BIH 3R TIgy HY

37) As the angular frequency of the alternating current source is doubled, the resistance offered by the inductor in that
circuit will: /

W YTl YRT Hid 31 HIoig gy SR @1 ol 8, @ 39 ulvoy # IRe grT fear wan afeie:
1. be doubled / GRIAT 1 ST
2. become 4 times of the original value / Ad® T &1 4 ‘:HT%}f\_rlTaTﬂ

become % times the original value / adlde HIA &I % EIG1 SR

3.

become% of the original value / TRAIdd AT BT % B ST
4, 2 2

Correct Answer :-

« be doubled / GRIAT &I SIAT

38) A proton and an alpha particle are projected with the same velocity at right angles to a uniform magnetic field. The
correct statement regarding the motion of two particles is: /

TS Wl 3R TAPT SV THIHH a1 &7 W TH ST IR FAH 37 F 1Y §fée frd o g1 v S sl s afa &
'ﬂﬁﬁwaﬂﬂ%

1. Radii of the circular paths for both the particles are same / Ea:h U & ﬁquafﬁn gt aﬁﬁwq A %.I
2. Proton moves in a circular path of greater radius / 3 BT & U Q?ﬁq Y T Y &1 deil

3. Proton moves in a circular path of smaller radius / BIAE KD THh q@’q Ty H Ui &1 eIl

4. Both particles will move in a straight line / & BT U et Xar &rrﬁaéﬁ

Correct Answer :-

« Proton moves in a circular path of smaller radius / oIt B & s Qﬁ'q gy H UieH &1 eIl

39) In a p-n junction diode, the depletion region is 500nm and the electric field present is 6 x 105 V/m. The potential barrier
developed is: /

TP p-n Wi SIS A 3raerd &9 500nm & 3% SuRRIA fagaq &4 6 x 105 v/im B 1 AR fAva wriR 8:
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1.0.3V
2.7V
3.3V

4.0.7V

Correct Answer :-

« 03V

40) A car moves along a straight road whose equation of motion is given by s= 12t + 3t - 2t3 wheres’ is in meters and‘t’ in
seconds. The velocity of the car at the start will be:/

TP PR T A1 TS W Tad! & Rrae) 7fa &1 GHe, s= 12¢ + 3¢2 - 263 gRI AT a1 8 ot o Mex A R 8fiv ¢
Jbs A 21 YT & SR BT I -

1.9m/s/9F A
2.7 m/s/7"v:ﬁ/®
3. 16 m/s/ 16 TR
4. 12 m/s/ 12 H1A

Correct Answer :-

. 12m/s/ 12 HIA

41) The temperature of inversion is &;, neutral temperature is 8, and temperature of cold junction is@ Then
variation of thermo emfwith temperature in a thermocouple arerelated by the equation: /

ATE, SHAT AT 6; 3G a8, AT Idcd WiETHT daraaT= 6 §1 af a-dedgd TF 7
AIAT F T Al STATE & IRade, 5T THGIT T Sartd &

(6i+60) _

&1
. 2

2. Gy —-0;=20;
3, Gi+8,=06,
4, 6; - 3.3 22311

Correct Answer :-

42) The current through the galvanometerin the given circuitis: /

v a1v iy # dieaaeey & AeEH ¥ Onr g

m,av
ml
sq
Q
O— A
7iQ

Page - 12



1

—A
16

4

Correct Answer :-

43) 10gice at0°is converted to steam at 100° C. The quantity of heat required is:
LH of fusion ofice=80cal'g
LH of vaporization of water=540 cal/g/

0° 9X 103 §F 100°C IX 8119 # IRafcid & Al §1 AR FSAT bl AR &
ats & Haterer r aqccd FSHT= 80 elT/ams
Tl & arSqel &Y Ied FOHT= 540 ehei /3T

1. 7200cal
2. 5360 cal
3. 100 cal

4. 800 cal

Correct Answer :-

e 7200cal

44) A particle is projected at 60° to the horizontl with a kinetic energy ‘K°. The kinetic energy at the highest pointis: /

TS HUT Pl K AT Fall & Wi aifcer & 60° W Yatfid fhar /| 3Taaw fbg W st =i &

1. Zero / [
2.K

K

3. 4
K
4. 2

Correct Answer :-
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Aradioactive substance decaysto —  ofits initial activity in 40 days. The halflife of the radioactive

32
substanceis:
4omﬁmﬁmmmmmﬁﬁm; % & 8 ST
R )
1. 4 days /4 f&7

2. 16 days / 16 fa=1
3.32 days /32 f&d

4. 8 days/8 e

Correct Answer :-

« 8days/8 e

46) Two bodies of equal massesrevolvein circular orbits of radii R; and R; with the same period. The ratio of their centripetal

.
forces: —+=

4

ar W‘amm?ﬁ arer fofer, 9Ae 3ad (diRs) 9fgd Ry AR R, Bl 7 gediar &l F aR@Aor

§1 3eh A E HT I %:_

47) A train moves towards a stationary observer with speed 51 m/s. The train sounds a whistle and its
frequency registered by the observeris f;. If the wain’s speedis reduced to 34 m/s, the frequency

registered is fa. If the speed of sound is 340 m/s, then ratio of —+is:/
1

o YT 510 1 AT O RN e 1 AR dedt &1 X ¥ i oy ey amer
& 3R Yafe €aRT Uoiigd SEhT Tdicd £i §1 AT Yeremst & =er 34 HIY & & Y &

ST 8, T el 3MTqice £ 81 AlG eafer &I =mer 340 HIAT 8, ol %Eﬁrﬂ?ﬂ?{ &

-

1.2.16
2. 1.06

3.2.06
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4. 0.06

Correct Answer :-

+ 1.06

48) In aprocess it is found that Au =-Aw. It could be: /
U Yiar & 9 URm S § b Au=-Aw| T8 B Gkl &

1. Isothermal process / Tt ufdsar

2. Isobaric process / TS Ufehar

3. Isochoric process / TH-3{de ufdar
4. Adiabatic process / RIS ufesar

Correct Answer :-

« Adiabatic process / R ufssar

49)
In the given circuit, the cells E; (20 V) and E; (4 V) havenegotiable internal resistance. If the galvanometer ‘G’
shows zero deflection. then theresistance “R™ in the circuitis:/
fqu a1 gfwer & {elE; (20 V)R Ey (¢ V)H R 37dRe 9fdder 81 afe dedaiadier 6 e
faarT fearar § draftoy # gfader R &
320
20V~ - <
'|' El R E5|' v
1. 84
2. 6.4Q
5 25Q
4, 4Q

50)
Abox of mass 10 kgis placed on a rough indined plane ofinclination 30°. The box slides down with an acceleration 2.5 m/s?.
Whatis the coefficient of fricdon between the box and the inclined plane (take g = 10 m/s?)? /
10 ToalT SeaATe & T & 30° Fbld & U & HTeld THATA G @ STl &1 dadl, 2.5 HR® & cakor I =«
Rraear §1 999 3R 3Ed GFae & = 9YT IOTER T 87 (AT Allolt g = 10 mis?)

1. 203
2. 3\/5

1

3, 3V2

Page - 15



|-
|

(¥
<
w

Correct Answer :-

A
243

Topic:- Chemistry

1) The ability of fluorine to stabilize the highest oxidation state as in the case of crVlis due to whereas for oxygen it is
due to .

oV FI FRURY A TR Ft S=rad it sraeut & ®Irdigpd B #) divaar F HROI BRI B, Tafs
SRt # g8 arvaar ¥ HRUT B B

1. formation of multiple bond; higher bond enthalpy / §g 3Taef T fAmtor 5 SEdH &W‘EIEUTBW:IT
2. higher reducing power; higher oxidizing power / 3=IdH U &HT ; SdH S HRT &
3. higher bond enthalpy; formation of multiple bond / 3=dH aﬂa"%rq;vfm ;88 3T a7 fAmfor

4. higher ionizing power; higher lattice energy / 3=IdH DR & ; S=aH ST St

Correct Answer :-

« higher bond enthalpy; formation of multiple bond / 3=dH Gﬂa"erqtlfm ; 98 e BT fmior

2) In addition mechanism, cationic polymerization takes place in the presence of: /
uRada ferarfaft &, emrait agae- swo! SufRufa & fea giar o

1. Metal / €T

2. Acid / 3&1

3. Light / UhIRT

4. Base / &R

Correct Answer :-
e Acid / A&

3) The organic compound which can be produced by fermentation of sugar and is a constituent of beer is: /

DM aqq Sl 9+t & fPvad gRT IdTied fPar S Havdl § T4 919 3T IS U o:
1. Ethanol / 3T

2. Ethanoic acid / SAFIS® 3

3. Chloromethane / FIRITHAA

4. Methanol / fHaATa

Correct Answer :-

e Ethanol /%Q?Tﬁ

4) The element which is an essential constituent of all organic compounds belongs to: /

98 o ol 9t FrefIe Aiftre) & e ue sifard ues §, 399 el &:
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1. Group 14/ xi+g 14
2. Group 16 / 9Hg 16
3. Group 8/ THg 8
4. Group 4/ qHg 4

Correct Answer :-

» Group 14/ 9¥g 14

5) Orlon is a substitute for: /

IRA ___ ¥ g uw fawey (Asuadiee) 1
1. Wool / 3
2. Silk /3=

3. Cotton /'\‘fﬁ

4. Rubber /Y48

Correct Answer :-

6) 18 g of glucose is dissolved in 1 kg of water in a saucepan. At what temperature will water boil at 1.013 bar?
(K, for water is 0.52 K kg mol-1) /

TH G0 # 1 el oa ® 18 9T T o e T | R aTuH IR Sd 1.013 IR TR T2
(oTel & fR1T K, = 0.52 FTea= fpar A1 B1)

1. 0.052 K / 0.052 dfea

2.273.2K/273.2 Bl

3.373.2K/373.2 Blcd

4.105.2 K/ 105.2 Pfed

Correct Answer :-

. 373.2K/373.2 Bfea

7) Which pair of atomic number represents elements in the same group? /
IHTY] T 6T I A1 T, Tl BT =001 G T3g & Har 82
1.12,20

2.11,18

3.9,15

4.6,12

Correct Answer :-

8) Gold number is minimum in case of: /
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AUIIp SHP HgH H Y-AdH gldl &:
1. Starch / @/
2. Gum arabic / TH SRfJ®

3. Albumin /Wﬁﬂ
4. Gelatin / orafeT

Correct Answer :-

« Gelatin / foraifest

9) If magnesium sulphate is 50 percent ionised in a solution, then the van’t Hoff factor is: /
I T Fetbe, Te faeam & 5o ufoera smafera giar g @ aive 3i% bhaex §:
1.15

2.5.6

3.1.6

4.3.5

Correct Answer :-

10) Carbyl amines on acid hydrolysis give ____ whereas on catalytic reductiongive ./

PIIsd THISH BT 3T Sd-3TIeH B TR TS BT 8, Sa i SARD| SUTa- H1 U T glar gl
1. primary amines, secondary amines /WWW : Ww

2. primary amines, tertiary amines /mmw : WW

3. secondary amines, primary amines /@?ﬂww ] WWW

4. tertiary amines, secondary amines / ﬂ?ﬁ%@@ : WW

Correct Answer :-

¢ primary amines, secondary amines /WWW : Ww

11) The sulphide ore among the following ores is: /
Fafifed sl & UewTss o

1. Copper glance / dT¥ A=A

2. Haematite/%tﬂ?lsf.r

3. Bauxite /Eﬁ‘am%?

4. Pyrolusite /ﬁﬂ?{ﬂﬁ?

Correct Answer :-

e Copper glance / I AT

12) pyrolusite when fused with K,CO5 in presence of air gives a green mass ‘A’. When Cl, is passed into the solution of A,

another colored product B is obtained. A and B are: /
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da1g 1 SUIRTT H K,C03 & HTY STd UIRIIATS C Pl WSl TP AT SIdl & dl dg X XM PIAGIdA adl &l SId Cl, PTA D
faera= & utia far ST 8, ) U o W9 ST B U glaT 8 1 A 8 B §:

1. MnO, & Mn,0

2. KMnO,4 & Mn,04
3. K;MNnO4 & KMnO,
4. K;MnOH & Mn30,

Correct Answer :-

. KZMnO4 & KMnO4

13) Identify the product formed when U-238 undergoes alpha decay. /

I3 fAftfa S o1 uga™ FIRTT 19 u-238, SET & A TIHR ToRAT 8

Pa

14) Which one of the following statements is INCORRECT about lanthanoids? /

I8 FYF TH o adAES & favg d g gl v

1. Most of the elements in +3 state are diamagnetic / +3 S{IRT T mﬁmm%l

2. La (OH)3 is most basic / La (OH); Ty S R g gl

3. +4 state is not a common oxidation state of the elements / Tcdl § +4 S Uh JH 3BT Wqﬁ%l
4. Lanthanoid ions having empty f orbitals are colorless / Raa f?ﬁ&ﬂaﬁm e T"I—Eﬁ'_-f @% %I

Correct Answer :-

¢ Most of the elements in +3 state are diamagnetic / +3 3ARYT a1 WWW@%%I

15) Wwhich of the following will give CO, on treatment with dilute acid? /

Frofafa & & 14 99 or & 1Y ST 819 | co, a1 72
1. Plaster of paris/WGﬁWﬁW

2. Quick lime / &1 T AT
3. Gypsum / oy
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4, Siderite / IXISRIQC

Correct Answer :-

o Siderite / IQ%QIQE

16) Which of the following is a synthetic indicator? /
Frafafed & & o1 91 vizdite gue 82

1. Red litmus solution / AT fereH¥ fae

2. Turmeric /EFQFT

3. Phenolphthalein / BTG

4. Blue litmus solution / =tal ferewy faeig

Correct Answer :-

« Phenolphthalein / BIRTuAferT

17) Which of the following is a non-terminal functional group? /

Frafafaa & 9 @19 a1 ve srHfow werd (AiF-efifaa hawre) Tyg 82
1. Aldehyde / TCEEIES

2. Carboxyl | BISfaad

3. Alcohol / TebIgIdl

4. Ketone / BICH

Correct Answer :-

« Ketone /®Ied

18) Which of the following is the most electronegative element? /
Fafifaa & ¥ o1 wed ofte Bufagad o 32

1.F

2.N

3.

4.0

Correct Answer :-

19) A white precipitate is formed when dilute sulphuric acid is added to o

W O AR 3T B ¥ 1Y T oI @ 99 U Wik ey o1 Rt gl g1
1. MgS0, solution / Mgs0, faeid

2. NaCl solution / Nacl faaa

3. KCl solution / kcI faeig

4. BaCl, solution / BaCl, fac

Page - 20



Correct Answer :-

* BaCl, solution / BaCl, facig

20) The ionization enthalpy of Li is 520kJ/ mol. What would be the amount of energy required to convert 700mg of Li atoms

in the gaseous state into Li* ? (atomic mass of Li= 7 amu) /

Li T 3T QUi s20fhaisra/ Hia 8 | A9 srawat & 700f¥refiomy Li wrumopeh &Y Lit ® ufvafda s+ & forg
SATIRYD Holl D1 HHAT HT SRN? (Li BT ULHATY] SHHT= 7 amu)

1.0.52kJ
2.74KkJ
3.52K)

4. 52k]

Correct Answer :-
o 52KkJ

21) The relative stability of the four acid derivatives towards nucleophiles is: /

TR Y 3R IR R TGl Bt ATHE FRRET 39 UHR 8:

1. Amide > acid anhydride > ester > acid chloride / THISS > @EW@E > T >@3W§3
2. Amide > acid chloride > ester > acid anhydride / THIS S > Eﬁgaﬂ"lﬂ?&' > TR >@3Q¢|€E§T&:€
3. Amide > ester > acid anhydride > acid chloride / THIZS > TR > Qﬁ[@" L HESIES] >Qﬁl€ HIRISS
4. Amide < ester < acid anhydride < acid chloride / THISS < TR < Qﬁl@' URIRSIRS < Qﬁl@ GK’I\RIiZS

Correct Answer :-
« Amide > ester > acid anhydride > acid chloride / THIZS > U¥kX > Qﬁlg TgIRgIRS > U IS ?ﬁﬁ?ﬁg

22) The coordination number in a crystal of copper is: /
1S & frvea § TH-y T= §:

1.6

2.8

3.4

4.12

Correct Answer :-

o 12

23) The electronic configuration of 2 elements X and Y are given below. Which is the correct representation of the stable
form of Y and its compound with X?

X = [He] 2s22p°, Y = [Kr] 5s24d'%5p5 /
2 dcdl X T4 Y & gaaei=e fa=ard e fRu M €1 v ud 39 difies &1 X & 91y fRR 77 &1 98l Feuur s arg?
X = [He] 2s22p°, Y = [Kr] 5s24d'%5p%

1Y, YXg
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2., YX3

3.Y, YX

4. Y3, YX3
Correct Answer :-

.Y, YXq

24) The reaction used in the volumetric estimation of ozone is: /
SN ot gt Sepe § g Sififerar &:

PbS+0; ----—----> PbSO,+0;

1
5 KI+05+Hy0 oo < 1+ 0,+KOH
3, HiS+ 05 20;+ H0 +5
4, HCl+ 03 - = 0,+H,0+Cl,

Correct Answer :-

KI+ 03 + Hy0 - = 1,+0;+KOH

25) The possible monochloro structural isomers expected to be formed on free radical monochlorination of
(CH3)2CHCH2CH3 is:/

FHTfad AR ARETHS GHIGAT & (CHs),CHCH,CH; & TWoa Jad Aiaaii-=e i i g9 3t Sumamn 3:
1.6
2.5

3.4

4. 12

Correct Answer :-

26) According to Aufbau principle, the 21%¢ electron in an atom would occupy which one of the following orbitals? /

Sifrars Rigid ¥ R, T WA & 2191 saaeT $&d § S 01 R TS0 H1?
1. 3p
2. 4p
3.3d

4. 4s

Correct Answer :-

27) Gases do not obey the ideal gas law below a certain temperature. What is that temperature known as? /

T v fFraa araa & R el 3 Fraw o1 e 98 $-dt €1 98 9IHE ST Sedrar 22
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1. Inversion temperature / odesp <Yl dlY
2. Boyle temperature / Siad ag

3. Critical temperature / pifde g

4. Reduced temperature / I drg

Correct Answer :-

« Boyle temperature / digqa ag

28) Amylopectin is one of the components of starch where branching of the linear polymer occurs between: /
TATSA (G, WTd & YUCH! § I U BIdT ¢ W6l QP 9gaP (A5R UHR) FT IR 9% o419 "fed giar &:

1, Caand Cs/ CoUdCs
Ciand G5/ ¢, Td Cg
Ciand G,/ C,TdC,
4 Cand Ci/ CTEC,

Correct Answer :-

C,and C5/ C,Ud Cg

29) A nitrogen containing organic compound (X) can be reduced to aldehyde. Also when treated with phenyl magnesium
bromide and further hydrolysed, it gives ketone of molecular formula CyH;(O. Compound X can be represented by the

formula ./

T ATEEIoH ad PP ANF (X) B Tserss § Sufrd a1 & 9odr 81 §9S Sfarar bia SR sHmEs &
TTY UG T 3 FA-STefed HI W, TG SMM0a® G CoH (0 T HIEIH &al | TS X Bt T gRT
e forar s awar 31

1. CsHyN
2. CgHyoN
3. C3HsN

4. CgHgN

Correct Answer :-

30) What is the transformation occurring around boron atom in BF; when it forms bonds with NH3? /
BF3 § RT9 URHIY] & SRTURT 51 10T TXY-URTH &1 § 519 98 NH; & 1Y TS S1eT 82
1. The hybridization of B remains the same as in BF5. / B T HhRU BF, B TRE IH BT &

2. The hybridization of B changes from sp? to sp°. / B T G0l sp? 9 sp B ¥ead gl

3. An ionic bond is formed between BF3 and NH;. / BF3 3R NH; & S ST 3{Tae] Sl 5 |

4. B atom retains the sextet electronic configuration in its valence shell. / B UXHIY] YCh 3ﬁaejﬁ$ﬁ=qw B 3T FHYU DI
senifd

Correct Answer :-
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« The hybridization of B changes from sp“ to sp°. / B T b0 sp” ¥ sp” H dqddl g1

31) What is the partial positive charge on H atom in HCI molecule if its dipole moment is 1.03D and H—CI bond distance is
127 pm? (1D =3.336 x 1039 Cm) /

HCL 3V & H TRHV] R a1 Sfifkrer ¢ S1ma=n §, afe saeT fg 3@ 3myof 1.03D TS H—C1 BT 3T ST 127 pm 82 (
1D =3.336x 10730 Cm)

1.2.0x 107" Coulomb /2.0 x 10712 W\TJIT
2.0.0271 x 1072% Coulomb / 0.0271 x 10720 HalIq
3.2.71 x 1072% Coulomb / 2.71 x 10720 arq
4.2.71 x 10718 Coulomb /2.71 x 10718 HalH
Correct Answer :-

« 2.71 x 10720 Coulomb / 2.71 x 10720 HalH

32) How many moles of electrons are required to produce 135 gm of Al from molten alumina? /

TR TegfaAT | 135 TTH Al BT IUTG B & o180 sqael & fha IH3AU[3 Pt Srazawar gl 82
1. 15 moles / 15 UTHS{T]

2. 5 moles / 5 ATHSY]

3. 10 moles / 10 UTHST]

4, 20 moles / 20 UTH3{J

Correct Answer :-

e 15 moles / 15 UTH3H{T]

33) p-Helix, pleated structure of protein is stabilized by i

T Bt Heaiier ST, p aRmed & gRT WTdipd et 3|
1. Disulphide bond / SITHWDHISS Y

2. Hydrogen bond /BE@GFT 3y

3. Hydrophobic interactions / STAfGRTT Sra=afehar

4. Electrostatic interaction / T a@qﬁ St

Correct Answer :-

« Hydrogen bond /'G'IB@'\?H 3y

34) In a first order reaction, the time required for completion of 99.9% is_____of half-life of the reaction. /
YT HH (B 3HTSY) ifUfhar &, 99.9% quf 3 & fore saxas awy, sifufrar ot srg-smg &1 R
1. 2 times / 2 7[AT

2.9.9 times /9.9 [T

3. 5times /5 [T

4, 10 times / 10 T[T
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Correct Answer :-
+ 10times/ 10 7T

35) 47g of a solute (M.M=94 amu) dissolved in 1000g of a solvent (K= 14) leads to dimersation of the solute and lowering of
freezing point of the solution by 3.5K. What is the van’t Hoff factor for the solution? /

47 91 fadT (M.M=94 amu) FT 1000 ITH F TH AT (K, = 14) ¥ faa $1 R g o1 faga g war g, e
faeam & e fig o 3.5k 3w 8) oIt 81 s & g are 316 oRe |1 82

1.0.375
2.0.75
3.01
4.0.5

Correct Answer :-

« 05

36) Below 673K carbon monoxide is a better reducing agent than carbon because: /
673K & -2, HTa-T A1 TFAISS, HIa- B a1 § 9gaR TS RS ¢ Fife:
1. CO cannot be easily oxidized to CO, / CO TR T co, b mﬁﬁm%l

2. CO can be easily oxidized to CO, / CO WA A Co, A S{WEPIW%I

3. Carbon can be easily oxidized to CO, / TS TRl o Co, | Wﬁm%l

4. Carbon can be easily oxidized to CO | BT TRAA F co H mﬁwémél

Correct Answer :-

* CO can be easily oxidized to CO, / CO AT I Co, e GW@W%I

37) An atom of oxygen has Z=8 and A=16. If its binding energy is 128 MeV, then what is the binding energy per nucleon ? /
TR P TH WHIY] | 2-8 T A=16 § | TS STD! S FHell 128 MeV ©, 1 Ui gfFaaii= de= ot - 82

1. 10 MeV

2. 16 MeV

3. 8 MeV

4. 12.8 MeV

Correct Answer :-

e 8MeV

38) Which of the following particles will not be deflected when subjected to an external magnetic field? /
TTeT geo1d &7 F 3¢h 81 W Frafifa sl § § S 11 wur A 78 g

1. Positron /qﬁﬁ:{

2. Deutron / SIS

3. Photon / TG

4. Proton / Uleiq
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Correct Answer :-

¢ Photon/ HleH

39) Which of the following structural changes will not be reflected by the Van’t Hoff factor of a dissolved solute? /
Fafafad # & o1 w1 WRaers uitads, v fafia fada & are 5o oR$ gR1 wRiafdd 781 ghm?

1. lonisation / 3T

2. Association / J&Y

3. Isomerisation / FHIGYA

4. Micellization / THRAATHRUT

Correct Answer :-

¢ Isomerisation / JHIGd

40) Which of the following is used by the eye-surgeons to remove cataract from the eyes of patients, with a very high degree
of precision? /

TR @1 3= Fife F a1y, AR o el & Miforanfaig St R w1 & e Az ol g Fafafea 3 @ o
TN 4T STTaT 872

1. Sharp edged steel blade / TS YR AT W d &8

2. Sharp edged silver blade / GERREISIEIMGIES]
3. Sharp edged gold blade / TST YR Il AIH ] &S
4. Sharp edged diamond /A YR aTl gRT

Correct Answer :-

 Sharp edged diamond / ST YR a1 BRT

41) Which of the following is an example of neutral oxide? /
Frafafed # 3 o1 91 SeriF STRITSs $1 U@ SeErv 2
1. NO,

2. CO,

3. N,0

4. 50,

Correct Answer :-

L Nzo

42) Which substance helps in determining the endpoint in titrations using adsorption indicators? /
TRIRIOT YR BT START B §Y STATT A wae+ fig Freifva w3 & 1 a1 uqrd e swar g2
1. Silver chloride precipitate /WW% GI_C@W

2. Solid carbon dioxide /mmaﬁm

3. Barium hydroxide solution /WE’E@W@W

4. Gelatin / eI
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Correct Answer :-

« Silver chloride precipitate | RIeeR TRISS & 3@y

43) Select the appropriate property which is true for all group I elements of the periodic table. /

SUga oreH BT g9 B3 Wil {5 airad aRvit & Wl wE 1 awl & g g Bl

1. When heated in excess of air they form peroxides / SIIP TaAT H TRH TR IR J WINRISS Eﬁ'l?f%l

2. They react with dry dihydrogen to form hydrides / q BIRSIRS T & forg E@ ?‘:13313@3!:[ & a1y Sifforar v B
3. Their nitrates decompose on heating to nitrites and O, | 3T :I'I'sl%:C’ TR TRA | BIEHES 3R 0, T fagfea g g1

4. With the exception of lithium, the other group I elements impart colour to the flame, during flame test /

TR & S(UdTg & WY, ST URIEUT b SR, 3 G 1 dd o) Bl T UaH R & |

Correct Answer :-

o They react with dry dihydrogen to form hydrides / g HESIES) FH &S e ‘VI@ 3[3613@31:1 & 1Y SNfhar HA %l

44) Which of the following smtements are wue for cathode rays?

(i) Affect photographic plate

(ii) Penetrate through thin metallic sheet

(iii) Do not ionize gases through which they pass

(iv) Raise the temperature of the object on which they fall

/ SRR & o o & & &l 9 &= 909 8
() BIeInThe wie & gHldd &L §

(ii) Tcrelr enfcad ey & AR § TEar Gl

(iiiy 3o AT S FRATAT 76T HLr R § IERAT &l

(iv) 39 IR HT dYATT el & Toie 9 g5 BRr &l

1. (i), (iii) and (iv) / (i), (iii) 3R (iv)
2. (i), (iii) and (iv) / (i), (iii) 3TR (iv)
3. (i), (ii) and (iii) / (i), (ii) 3T (i)

4. (i), (ii) and (iv) / (i), (ii) 3R (iv)
Correct Answer :- |

« (i), (ii) and (iv) / (i), (ii) 3R (iv)

45) Given belowis a plot of TK vs. V (ml) of an ideal gas at pressures Py, P, P;, and P.. Which one of the
options shows the cormrect order of pressure? /

A)) TK @ €d Py, Po, P, P. OX Uk 3y 49 &1 V{&Eehe) & v 3w (TK aar
v)fear e &1 TFEaffld § & ST aa & 96 F 9T T 87

-

Pop
//2 Py
V{ml} . %pd

1.Py< Pp< P3< P

2. P4< P2:P1< P3
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3.P4> P3 > P2> Pl
4.P4< P3< P, < P

Correct Answer :-
* Py>P3>P> P

46) 1. enthalpy changes for thereduction of FesOs;) and FeOy, using COyy to give Feyy are —26.8 kJimol

and —16.5 kI'mole respectively. What is the enthalpy change for the reduction of Fe;O3;y to FeOyy using
COygas the reducing agent? /

Fegy F&T &l & AT COy &I ST HIT §U FerOsyTd FeOy & ITTA & forw qot zwar
aRedi, 26.8 faeleler a3 Td —16.5 faellsferad3o] §1 HU=RE & 7 & COyp &I 3T
FA U FexOsy WFeOyy & T & forw qol AT &7 qRacia aar gam?

1. +10.5 kI / +10.5 fpaiieget
2.-6.2k1/-6.2 fhare@
3.-45.5 kI /-45.5 Taaiolet
4, +6.2 kI /+6.2 frana

Correct Answer :-

. +62 kI /+6.2 fpar

47) Nagasispreparedin the laband collected in a gas jar by the downward displacement of water. If the
water level in the gasjaris the same as the waterlevel in the wough and the atmospheric pressure is 740
mm of Hgat23°C, then what is the partial pressure of N»?
(aqueous tension at 23°Cis 15 mm of Hg} /

N, 3 gaiermer F faffa & ardr § 3R o & A fovas gEnr A SR #F SR
& J1Er 81 A AT IR H e A TR A H e T §AE § AR aRFEST g1 23°C
¢ 740 mm Hg &, df N, &1 3% g & &2

(23°C I AT 15 mm He §1)

1.7.25 cm/7.25 QA
2.72.5 cm/72.5 OHt
3.7.55 cm/7.55 9Ht

4.75.5 cm/75.5 4H

Correct Answer :-
« 72.5cm/72.5 9H

48) Forareacton A +]13 — A,B, therate law is given as:
Rate =k [A]3 [B]E. From this data we can determine: /

afﬁﬁo‘mg—:]a—-AQB & forw, eX e 59 v &= o &
ET=k[A]§[B]%%I 59 3RS & §F a5 i & 9% §

1. Order of the reaction / 3{THfchdT BT T

2. Mechanism of the reaction / 3iffehar ot febanfafd

3. Average rate of the reaction / 3THfehdT &1 MR
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4. Molecularity of the reaction / GilHigh 4l el S1Uixdedl

Correct Answer :-

« Order of the reaction / 3{fHfohaT HTHH

49) The rate constant of the reaction KClO; + 6FeSO: + 3HaS0: — KCl + 3Fea(SO:) + 3Ha0 is 3x10% I mol secl.

This reaction is of: /
HTATHEAT KCIO; + 6FeSO: + 3H80: — KCl +3Fex(SO:); +3H:0 $T FRI® & 3x10% 1mol sec! §1 IG
wfafear et 7 &

1. Second order/@i'a'm

2. Zero order / YA PH

3. Tenth order / G9d Y

4. Third order / AR H

Correct Answer :-

» Second order/@;\’W

50) The conversion of ozoneto oxygen has the given elementary steps.
O; — 0, O ... (1) FASTREACTION
0; +0 — 20, veeee. (2) SLOWREACTION

Pick out the correct statement from the following: /

HEA ¥ R # §Iaer & 9’ @vor 3eafdd &
0; — 0, +0 ...(1) g s

0; +O —> 20, ... () #g Hfafsar

faFaferi@d # & eI d2d &1 =

1. The rate determining step is a bimolecular reaction /X AURS Uq, WEG{T{EE G{f‘l\-l%m%l

2. The molecularity of the rate determining step is 1 / QX YRS ug ot S{URIRSTT 1 gt gl
3. Step (1) is the rate determining step / dXUI (1), a?ﬁerfwaw%
4. O, is the intermediate in the reaction / Sffehar & 0, nma?ﬁa’l?ﬁ%l

Correct Answer :-

« The rate determining step is a bimolecular reaction /R FuRE Uq, WQG{W \’rffi\-m%l

Topic:- Biology

1) Four students P, Q, R and S differently reported the following set of organs to be analogous:
P. Forelimb of frog and fore limb of lizard.

Q. forelimb of bird and forelimb of human.

R. Wing of parrot and wing of butterfly.

S. Wing of bird and wing of bat.

The two students who have reported correctly are:

/ IR BT P, Q, R 3R S 7 3T &7 ¥ RN &I 37 gamn|

P. Wed BT S 3T iR f5uaelt #T orr 3T
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Q. U&IT p1 S ST SR HIHG DT Y S
R. did %1 U 3R faaedt &1 v

S. T&h 3T 4E 3R TGS &1 i

3t o forgia w8t i & i e, 3 8
1.QandR/Q3RR

2.RandS/R 3RS

3.Pand Q/P 3R Q

4.PandS/P3RS

Correct Answer :-

« RandS/R3RS

2) A feature of reproduction that is common to amoeba, spirogyra and yeast is that: /
S BT T SHFHTEIOT S SrHtaT, TUTERIISRT 3R THR H | 4T 8, 98 6:

1. they reproduce sexually / 3 T = F 999 HA %I

2. they reproduce asexually / 3 3fcifir ® 9 § T B %I

3. they form gametes. / q giHd ERIGH %I

4. they need two organisms for reproduction / 3%‘ TS & fT &) Sfidl @ sfragdhdn gt %I

Correct Answer :-

« they reproduce asexually / 3 3T ¥9 § S od g

3) The hormone that reduces transpiration is: /

STHIA St ATOfeh T DY A BT 8-
1. Cytokinin / HTSCIhIS

2. Gibberellin / FoTesRfeH

3. Auxin / TR

4. Abscisic acid / Q@ﬁ@ 3T

Correct Answer :-

« Abscisic acid / m 3

4) The shape of the guard cells changes due to a change in the: /

=1 ufYads & sRU gR-FIR®B1SH AE ) FT PR URafdd giare:
1. Protein composition in the guard cells / GR-BIRIBTSN T T IR

2. Amount of water in the guard cells / GR-DIRIB137 T UM DT AT

3. Position of the nucleus in the guard cells / GR-DIRIHIST & A1fYS $t fUfT

4. Temperature of the cells / DITRADI3M BT ATTHAH

Correct Answer :-

« Amount of water in the guard cells / GR-BIRI®T3M & gt & A



) The part or the plant embryo which grows Into the future root is called
UTEY YOI T HIT o Hiaw 4o § ReRadlare, 96 seaarg!
1. Plumule / TR
2. Zygote / JIHAS
3. Cotyledon / SISTg=
4. Radicle / {@HR
Correct Answer :-

« Radicle / aIHR

6) The role of decomposers in the ecosystem is: /

IR RS &3 | sraaed! BT YfH®T gt 8

1. To convert inorganic materials into organic compounds. / 3pTeE gerdf B HeHE aqfet § uRkafda s
2. They do not act on organic compounds. / 3 BT~ TfiTep] IR B T'Iﬁ P

3. To convert inorganic materials into simple forms. / PP TGl ) TR =ul § uRafdd wxl

4. To convert organic materials into inorganic forms. / DI YSTUT B SpTai-icp =TI H GRafed HTl

Correct Answer :-

« To convert organic materials into inorganic forms. / FIEMHD GSIdl DI SPBIEHD ©Ul J gRafid H1|

7) The chromosome constitution of the sperm giving rise to a baby girl is: /
U ASH! B O A aTd YhTU] BT URE 713+ Biel 8:

1. 44+ X

2.22+Y

3.44+Y

4.22+ X

Correct Answer :-
o 22+X

8) The appearance of dominant and recessive characters in the ratio of 1 : 1 in a cross indicates that: /
TS 1 B JUTHT 3R AGUTH F&I01 HTF7 1 : 1 Ut § i &l g
1. both the parents are homozygous dominant /
Sl SIS FERHel THId § 1
2. both the parents are homozygous recessive /
S ST TS SUHTd B
3. one of the parents is homozygous dominant and the other is homozygous recessive /

TP SHd GG THT § SR TIRT qHgrSlt syt §1

4. one of the parents is heterozygous and the other is homozygous recessive /
T S (el § TR gOvl JHGTES STHIE g1

Correct Answer :-
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* One of the parents Is heterozygous and the other Is N0Mozygous recessive /

TP S [TTIgHSH § 3R gORT ISR STt §1

9) Which part of the plant is most suitable for layering? /
TIY BT B | UFT WRT & T Tad Suga 8?2

1. Hard upper branch / POR SHURI AT

2. Hard basal branch / H3R S XAl

3. Soft basal branch / “RH 99 JMRAT

4. Soft upper branch / TRH JHURT TTET

Correct Answer :-

« Soft basal branch / TR 9T TIRG]

10) Which of the following are NOT cyanobacteria? /
o & 3 w1 wrEse T T 82

1. Chemoautotrophs / TSt

2. Autotrophs / Wurst

3. Photosynthetic bacteria / uwmﬂétﬁsﬁmvg

4. Blue green algae /:ﬂa‘sﬁaﬁw

Correct Answer :-

» Chemoautotrophs / ESSIRS IR

11) Which of the following diseases cannot be predicted using pedigree analysis? /
SRTTeret! farmetor &1 IUART $3 e A A foba I 1 Uel 781 I ST Webell 82
1. Cancer / =R

2. Colour blindness / AU

3. Blindness at birth / 57 & THI 3@@:1?”

4. Hyperdactyly / HWHT

Correct Answer :-

« Cancer/ PR

12) Choose the domain that contains the most primitive bacteria that lives in extreme environment. /

9% SIae g orrd sifafaws yafavor & w9 aren e sy shtary] wfafm @
1. Archaea / 3Mfdham
2. Protista / TifexeT

3. Eukarya / WT
4. Eubacteria / Wﬁm

Correct Answer :-
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e Archaea / Jllich il

13) Choose the character that is NOT applicable to man. /

T8 AT IR S FTS TR I e &

1. Multicellularity / SgPRITRIHAT

2. Presence of eukaryotic cells with walls / TRl & Wum DIRIB13M BT JufRUfeT
3. Feeding by ingestion / 3{dRUGUN §RT HIUT

4. Storage of carbohydrate as glycogen / m@f BT TARDISH & U H I

Correct Answer :-

 Presence of eukaryotic cells with walls / o & wum PIfRrepTeN oI SufRUfd

14) Certain animals have the capacity to generate an entire animal from a fragment. Name it. /
PO IR A TP WS T TH R U STF P B &l gidl & | 919 Farsd

1. Gemmule formation / ¢Tg U it AT

2. Grafting /7o

3. Fragmentation / fads

4. Sporulation / SIS

Correct Answer :-

 Fragmentation / fads

15) Good variety of mango is easily propagated through /

3MH P 3=} foreT 39S ATend @ Sfd # Sl 8
1. Cutting/WI'é:
2. Grafting/w

3. Tissue culture / AP JaHT
4. Seeding / HISIRITUT

Correct Answer :-

« Grafting / 701

16) The method of plant propagation in which parts of 2 plants are joined in such a way that they grow as one plant is
called ./

;‘q’quaﬂwaﬁﬁﬁrﬁmﬁ,2ﬁ%ﬁ$%ﬁﬁwm@sﬁtﬁm%%&wﬁﬁﬁmﬁmﬂﬁ HEATl
[

1. layering / R0
2. grafting / JAT0T
3. cutting / WT&F

4. vegetative propagation / CRRISRERE

Correct Answer :-
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o grafting / I4Yl

17) The occurrence of more than one embryo in a seed is called___ ./
TS S5 § U I SRE YOI FTSUAGHT____ wgarar gl

1. apogamy / 3UJTHA

2. polyembryony / g YUIdl

3. parthenogenesis / S

4. parthenocarpy / AN HHaA

Correct Answer :-

« polyembryony / SgHUIdI

18) There are various methods of asexual reproduction. Which of the following is not asexual reproduction? /

3raifTe s & faftra i g €1 e & & 217 w1 ordifires o =18 32
1. Budding / §H

2. Fragmentation / GSIHRu

3. Fission / fa&ig

4. Syngamy / GHHBIHTI

Correct Answer :-

e Syngamy / W

19) Twins who are joined together at birth are called ./
9 T9 FEaAd g

1. monozygotic twins / Wﬂﬁﬂm

2. fraternal twins / YT IH

3. siamese twins / SIHIS THSl

4. dizygotic twins / fgsies gael

Correct Answer :-

« siamese twins / JTTHIS THGT

20) The concept of species was given by: /

STf &Y HepeuT g7 gRT &1 718 t:
1. Carl Linnaeus / BTl -4

2. Copeland | HUAS

3. John Ray/\_rﬁ:ﬁ

4. Ernst Mayor / 3 TR

Correct Answer :-

« Ernst Mayor / 3 RE TR



21) The most common mode of vegetative reproduction in yeast is through: /
IR & Tl yoree 3 e A a3

1. Conjugation / W

2. Budding / p <

3. Fragmentation | G

4. Fission / fage

Correct Answer :-

e Budding / P

22) Human genetics cannot be studied like plants and animals because of: /

T SATIERIS BT Seaa= el 3R WaR) &) avg 39 $ROT ALY a1 S T
1. Absence of controlled selective breeding / AT TS Yo @1 14|

2. Limited traits / i &for

3. Large number of offspring / E_Gﬁ e § Hdfd

4. Short reproductive span / ¢ Uol-- 3afy

Correct Answer :-

« Absence of controlled selective breeding / [BEIEGENEICCAC SRR AR G

23) In grafting, the stock forms the of the future plant. /

IR &, WY Hidw T 31 EEIGIK

1. rooting system / ﬂjﬁm oIl
2. branch / RMMY

3. shooting system / PRERLIS

4. hybrid plant / JhT qrer

Correct Answer :-

 rooting system / H?ﬁ?q% TuTTeH

24) In taxonomic hierarchy, various categories are arranged in _____ order./
afifeta wam &, Rftr Afmt 9 & afeud I w1t §

1. random / ATESH

2. ascending /Gﬂﬂﬁ

3. specific/ fafkry

4. descending /3ERIET

Correct Answer :-

« descending /13RI

25) ¢V’ shaped notch is made on stock and scion in grafting. /
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VollpIk pldid__ XIYUTH oY Sl RIvldRIs] U dAlg viidl &1l
1. whip/%q

2. wedge/tﬁﬁ

3. crown / P13

4, side / 9IgS

Correct Answer :-

o wedge/ L]

26) A group of tissue always has closely linked cells with one free surface. Name that tissue. /

TH HdP & T T THRI TH Hod TR & AT TP Jot g BIRABIY gl &1 S SHad ST A qa1sd |
1. Connective / GaTGH

2. Muscle / ORIt

3. Nervous / Qi

4. Epithelial / 3Uhdl

Correct Answer :-

o Epithelial / U

27) Dogs and other animals vaporize water through panting because: /
P 3R 3T WFIGR GIIHBR oel OB B & i

1. They do not have sweat glands /I8 g Bt m:ﬁ[@ﬁf

2. It is their habit /Ugiﬂaﬁ 3{13?7%

3. They secrete excess saliva /9 3ifafRad @R fAwred %

4. They drink only very little water / %aga ?[ 9 M i %

Correct Answer :-

« They do not have sweat glands / 3TH Ui Bt T 18T gich

28) Find out the WRONG statement about epithelium cells. /

SUHHT HIRNBISH F TR H Ted ST J1d SIfog|

1. Trachea is lined by pseudo stratified epithelium /W@? TN SUHAT gRT Wﬂﬁ@m%

2. Cell division in epithelial cells is very slow / 3U® dl PIRIBIS ﬁﬁﬁmﬁlﬂma@ ofi Eﬁ?ﬂ%

3. Epithelial cells are held together by desmosomes / mﬁmammwmuw@?ﬁ%

4. Squamous epithelium is also called pavement epithelium / Q! JUHT Bl ?@ﬂm mWGﬂTﬂ%

Correct Answer :-

« Cell division in epithelial cells is very slow /mﬁﬁmﬁﬁﬁmﬁlﬂma@a g s

29) Tissues that grow upon tissues, line the body and organ surface and cells are held close together, are features of: /

S Sl Hab! IR APRId 81a €, TR 3R 371 oI B STafvd $d & BIRID 0P gay & I8 gt €, A v v
F SHAD P TEIT &:
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1. Connective tissue / XI4Ivll »mda
2. Muscle tissue / ORIt Sl

3. Nervous tissue / GIA®T SHadb

4. Epithelial tissue / SUD AT Hdd

Correct Answer :-

« Epithelial tissue / 3UD Al SHdD

30) The biokinetic zone of most organisms lies between 10 and 45°C. What might be the root reason? /
ST el ®1 wa i 84 10 3R 45°c P FI T8aT 81 A PRI F1 &1 HHT 22

1. Temperature cannot go beyond these limits / dTUHTT S Twrefi Eﬁ'Tﬁoﬁﬂw

2. Most enzymes work effectively in this range / WW%W'&UM@T@ mmﬁ%

3. Organisms are more comfortable in this range /Gﬁasﬂtrhﬂ?ﬁmwéﬁ%

4. Organisms feel cold or feverish /Gﬁa‘raﬁa—émwwm%

Correct Answer :-

* Most enzymes work effectively in this range / aﬁwwsﬂuﬁﬂ?ﬁuﬁm% WW%

31) In cold weather, a protein diet is more helpful to the body because: /

Xtd & A H, TP Wi SMER IRR & o sifires Suaih ghar @ wilfe:

1. Rate of metabolism of protein is lower / I & IUTT=Ig Bt X3 o= E?I?ﬂ %

2. Rate of metabolism of protein is high /W%G’Wﬁﬂ?ﬁ a?ﬂ%

3. Rate of metabolism of carbohydrate is high / Tﬂ%ﬁf{c’ & UM DI & I Bl &
4. Carbohydrates lower the body heat / m@f YRR P THf DT HH B %

Correct Answer :-
« Rate of metabolism of protein is high / G| %Wﬁﬂ?m@?ﬁ%

32) Viruses deserve a special group of their own. Which of the following support this view? /

T W & ve ARy 9 & dra g1 A d A o9 sa e § wude 22

1. They contain both RNA and DNA / 3TH 3RTAY @Twaﬁmﬂaﬁ%

2. They exhibit the properties of both living and non-living /3 Sitfag ﬁﬁﬁﬁ%mmﬁ%
3. They are cellular / JdHIRGY %

4. They are capable of self-replication /3 TUfaHRu § H&m‘s‘]?r%

Correct Answer :-

« They exhibit the properties of both living and non-living /9 Sfifad aﬁ?ﬁﬁh’aﬁr%wwﬁhwﬁ%

33) Which of the following is NOT a function of gap junction in tissues? /
FEdd o T Sae! | SRy &1 Yo 181 82
1. Connect cytoplasm of adjoining cells / FeTd PIRABT DI DITABT G B G“S_ b
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2. Facilitate the cells to communicate / @lIX[ |G| ] ddIR H X1 H Hag PRdl &
3. For rapid transfer of ions and molecules / ST 3R \3@3‘?[%5_3'?[ RIFIR & ford
4. To stop leaking of substances across a tissue / Toh Hdd @UET?—W% e Y ABT

Correct Answer :-

« To stop leaking of substances across a tissue / Uh D I Wﬁ% i B b1

34) Which of the following statements is WRONG? /

9 & @ B9 W Y= Tad 32

1. All bacteria are heterotrophs / Hlﬁﬁw qT@Tfﬁﬁ Eﬁ?f %

2. Yeasts are unicellular /WW’&I’W’@%%

3. Order is an assemblage of related classes /WW@HH"'WW@W%
4. Kingdom Monera includes bacteria / SITId SRR m gfeferd @T‘IT %

Correct Answer :-

¢ All bacteria are heterotrophs /Hlﬁmmmﬁ@a%

35) Which of the following is the most important cause of heat stroke? /
o # ¥ SoATHTT BT TN He @yl HRUT B TT 82

1. Rise in body temperature / YRR & dgH A A q@

2. Salt imbalance / TH® AT

3. Sunlight / RSl &1 JARFT

4. Sweating / TR 37T

Correct Answer :-
« Salt imbalance / TH® T

36) Which of the following is a chemoreceptor? /
U & Qo1 1 T 82

1. Temperature / dTJHIA

2. Smell /7Y

3. Touch / T2

4. Pressure / QI§

Correct Answer :-

o Smell /7Y

37) Spot out the limbless amphibian from the following. /
Frafafed § 9 urg Yed SwaeR g

1. Salamandra / ﬁéﬁ@

2. Ichthyophis / 3@@%
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3. Buto / ¢pl
4. Hyla / 1Ol

Correct Answer :-

« Ichthyophis / E{Eapivors

38) The myofilaments of the band of muscles contain: /
TEIRE & ds F araifrarica § e AT A §:
1. Heavy meromyosin / YR FRIARA

2. Only myosin / I ARNRA

3. Only actin / FHad Eﬁ?f

4. Both actin and myosin / E[_T?\'E? 3R AR K|

Correct Answer :-

e Only actin/ Had E%_f[

39) The biomass available for consumption by deer in the forest and the fungi and bacteria is called .

PaP 9 JEIAT 3R ST § R0 & gRI WU & R ITa AgAETdl___ FeIwEr el
1. Standing crops /‘@I@.of o

2. Secondary productivity / fedig® Idgdar

3. Gross primary productivity / b d WAHS IdTedhdl

4. Net primary productivity / <€ TTUfHe IcTGH T

Correct Answer :-
« Net primary productivity / e Tyt Iaredmar

40) The gas released from germinating seeds indicates that the seeds are i
dpfagivediol AP msfmadiefdde @

1. alive and respiring / Shifad 3R %H:ﬁq

2. alive and decomposing / Siifad iR 3Muecsd

3. alive and decaying / Shifad SR emor

4. dead and decaying / {d 3R &fgu

Correct Answer :-

« alive and respiring / Sifad 3R 4g-1g

41) The shell of a mollusk is secreted by: /

Mo PIAT__ F GRS DI AT 31
1. Mantle / Hed

2. Viscera / 3{TcRT

3. Osphradium / SlfaresT

Page - 39



4. Radula / 4l%YA

Correct Answer :-

« Mantle / Hed

42) The embryo culture is mainly applied for: /

YUT TIH I YT &0 & 3T ford UUTa o A1 oIt &
1. Cloning propagation / AN TR

2. Production of embryoids / ugmﬁé? [RICICE]

3. Induction of somoclonal variation / THIGATE AfHTT P THIALA
4. Overcoming hybridization barriers / BT TS TR mqﬁ

Correct Answer :-
« Overcoming hybridization barriers / HehR0T T ) muﬁ

43) Slow and sustained contraction is a feature of red meat. Which of the following is red meat? /
offar 3R FReR Tgae aTa 7 BT AT 8 | e & @ 9 T a3 82

1. Tongue / ﬁﬂ’é’f

2. Extensor muscles on the back / T%d FHTRON URmT

3. Muscles of stomach / 3THTRIT &1 ARMET

4. Limb muscles / IT< URMAT

Correct Answer :-
« Extensor muscles on the back / T2 UHTNRUTt URMET

44) One group of the following is called degenerate codon. Identify. /
9 % TP g B! 3UBIRd I Hed & | Tgd=a |

1. UUA, UUG, CUA, CUG

2. CUC, CCU, ACU, GCU

3. CUU, CUC, UUC, UUU

4. UUU, CUU, AUU, GUU

Correct Answer :-
« UUA, UUG, CUA, CUG

45) A man lost a lot of blood in an accident whose blood group is unknown and needs blood transfusion on emergency
condition. His friend was allowed to donate his blood to the patient. What would have been the type of blood group of the
donor friend? /

T gdeAT H U ATGH! BT HTH] 394 98 791 TF SHBT I WE ST & IR S STUTABTRNT SHRAT H I BT
STAIAH AT ¢ | IUP S P AN B I & B Pt AT & &Y T | ST R P I THE BT YR T 3T BT

1. Type A group / UPR A TJHg
2. Type O group / UHRR O THg

3. Type AB group / UHRR AB HHg
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4. Type B group / 4Ix B <+

Correct Answer :-
» Type O group / UHR O HHg

46) Name the mollusc which has an ink sac. /

39 Hiap &1 9 g5 ford Adfieiv glar gl
1. Cuttle fish / e T

2. Mussel / HHT

3. Pearl oyster / ol '«E@f

4. Devil fish / §TTHH

Correct Answer :-

« Cuttle fish / Fed TR

47) Name any two organisms which can occupy more than one trophic level? /
PIs I Siidl BT T4 Ia13d it T 9 Sife NiYedr R R fRd 8 94 82
1. Paddy, wheat / YT, ﬁﬁu

2. Crow, bear/ﬁ\’rﬂ, HiL

3. Virus and viroids / I18%9 3IR fadigs

4. Bacteria, fungi /éaé’rl’w, Ddh

Correct Answer :-
¢ Crow, bear/ﬁx’rﬂ, HieL

48) Name the scientist who discovered the PCR technique? /

AWFF BT AT ga1sd PRM WRitemR aw-te 31 @i e
1. Stanley Cohen / TTell I

2. H. Khurana / 9. G

3. Kary B. Mullis / %1 off, e

4. H. Boyer / TI.GRR

Correct Answer :-

« Kary B. Mullis / <1 &1, gferg

49) Receptors are: /

1. Specialized tips of nerve cells / dfAGTRIRIGTS B fafdre feu
2. Motor nerves / IR dfdT

3. Nerve impulses / et smaT

4. Sensory nerves / Jaa! a1
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Correct Answer :-

« Specialized tips of nerve cells / dR®IHIRIBIS Bi fafRre feg

50) Balanoglossus is a representative of: /
CREIRGIREA F1 U I eus g1
1. Sipunculoidea / Wﬁ%’m

2. Chordata / Tac]

3. Echiuroidea /U $§§VI3 ST
4. Hemichordata / %ﬁ?ﬁ%ﬁ

Correct Answer :-

« Hemichordata / %W@ET

51) Ginger is vegetatively propagated by: /
T BT AT I $HS GRI BT 3
1. Sucker / JHP

2. Tuber / &SR
3. Rhizomes / Y g

4. Bulbs / §cd

Correct Answer :-
« Rhizomes / UG

52) What is the water potential of pure water at standard temperature? /
HIF ATIHT UR Y5 STel b1 STel faWa a1 g1 82

1.1

2.10

3.0

4. 100

Correct Answer :-

53) What is the function of sertoli cells? /

HeTeht HifRreTsit &1 yort Far 82

1. Produce spermatogonia / [ehTU[SIT At @

2. Provide nutrition to germ cells / ST PIRrBTSH BT YT TaH AT
3. Secrete hormones / gﬂﬁ HTfad ST

4. Give resistance / TTRIY T

Correct Answer :-
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¢ Provide nutrition to germ cells / SiH DX S ol UINUL Ul ol

54) What is the point of insertion in skeletal muscles? /

FHoHra U=AaT § fFawE g s g

1. The end of the muscle which is attached to the immovable bone / ORIt T 3id STl 3@ E?_gpf I ST g3l ?
2. The end of the muscle attached to the movable bone / Tl —Ev'?g;f ) YgTgell PRI

3. Belly of a skeletal muscle / hTeT Uit P die

4. It refers to ligament / dg @Y G| Haﬁ-fﬁ CGI %

Correct Answer :-
 The end of the muscle attached to the movable bone / Tl 3@ ) ST gl UM T 3fd

55) What is similar about the root hairs and lateral roots in the following statements? /
o wy= o et 2 ok ursf el & aR W i wHE 92

1. Both help in fixation /&I TR0 | Heg d %

2. Both have long life /I &1 a4 3G gl g

3. Both increases the area of absorption / G SR BT & a?ﬂ%f g

4. Both are multicellular /G a‘gﬁﬁ:ﬁn B

Correct Answer :-

« Both increases the area of absorption / A1 AR BT & TG &

56) What is coccyx? /

AT FTR?

1. Tail of the vertebral column / FREGS BT 955
2. Neck vertebra / U1d1 HRIFDH

3. Part of the limb bone / UTG &I Eﬁgf CANRERS
4. Part of the inner ear / 3T DT BT G

Correct Answer :-

« Tail of the vertebral column / BREG.8 aﬁq@?

57) What is a telomere? /

TGS FIT 2

1. The sequence of RNA found on replicating molecule of DNA /SIT-Y Eg Uﬁﬁ 3] TR U S dTell SRTAT 61 S{IhH

2. On the ends of eukaryotic chromosome the regions of repeated sequence of DNA /WW% MRS U4 &
RIGW 3IhH & &

3. A G-C rich region of DNA / SITU &1 Sl ¥} TG &
4. On a bacterial chromosome the point of DNA termination / Y& \_rﬂa'l'q TMUREF UR ST THTwT Wﬁ@

Correct Answer :-
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« On the ends of eukaryotic chromosome the regions of repeated sequence of DNA / {pIXdllce UINA o [T UR SILAY o9
RIGT 35H 3 &

58) What happens when population are reduced drastically in size, genetic diversity and heterozygosity? /

T ST & 99 ST 71, Ta e fafyear S fawwrgresar & Suar § gedi 82

1. Are likely to decrease the probability of extinction / faeu= &t wiferdr &) et Tehd %

2. Are likely to increase the probability of extinction / faeg @1 Wi &1 del JoHd g

3. Are not factors that influence the probability of extinction / I PRS :iébf% S facio B T Bt AHITd HRd %

4. Automatically respond in a way that protects populations from future changes / I ®U W 39 WP § ufaswR <d 8 i
STEe B Hiaw & ufacl & SE g

Correct Answer :-

« Are likely to decrease the probability of extinction / faaT &t Ui dr & geT Ihd §

59) Why root cells have lower water potential than leaf cells? /

Td SRR (e ) BT 0= DR (@@w Aew) § w9 o fAya ®i garg?

1. Root cells have lesser solute concentration. / Hc1 CAIREAE (F\—dﬁ?\q) mﬁ‘an%‘ni{m DH —&;I?IT%I

2. Root cells have greater solute concentration. / F¢T CAIRIEGR] xc @?\ED 1 facr gigur 31 gt g
3. Leaf cells have lesser solute concentration. / Uil SITRTB1A T faeig gl HH 3-1?1'[ % |

4. Leaf cells have greater solute concentration. / T=f DRI BT faca Tigor sifdie BFIT‘IT%I

Correct Answer :-

» Root cells have greater solute concentration. / T&T PIRIBIS (Qf‘_t‘f'g@) &1 facr Figor i gt g

60) Chromosome number in meiocytes in housefly and fruit fly are always ./
W AT SR e ot § g ey § PR St den gdw__ gl gl
1. None of the above / Wﬁ@ﬁﬁ:ﬁﬁ

2. Haploid / 3ITfOrd

3. Polyploidy / EE"I&R'IT

4. Diploid / f§TIfUra

Correct Answer :-

« Diploid / fgafora

61) How are the organs like root, stem, leaf, etc. formed? /

ST, 1, URH, 31T S 3T 9 §1d 82

1. By cell migration into the appropriate position in the tissues / Sda! # I UfT & SIfieT uary gri
2. By cell division in the meristematic tissues [fAHa® SHdd! J ST fGUTSH gRT

3. By cell division in gamete tissues / JTHDH Sdm! B HIRAHT AU gRT

4. By rearranging the genetic material in the precursor cells so that organ specific genes are activated /

T RIS H SiTdfRies Tt o1 gAfd-ary o o 3 fafkiy i wfsra gt o
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Correct Answer :-

« By cell division in the meristematic tissues favsaa® Sae! J SifeT faueH gr

62) How can point mutation result in silent mutation? /

faig Safvad g Safads & uRunfia $2 g gearg?

1. Premature translation is lead by change in single base /W HIdIq Uhdl &HUR'QW@ W@?IT%

2. Change in a single base which has no effect on the protein / Thd aﬂwﬁqﬁaﬁqmmmﬁqmaﬂ%u% -Te?f@?ﬂ

3. Alteration of reading frame of the gene by the addition or deletion of a base / S & U3+ IhH BT &ﬂ?%\ﬁ?{mﬁ?ﬁmm
BIRGCRE

4. Changing a single base within a codon from Ato C/ U&dd &ﬂ?ﬁ HISH %WE&?’A@ cHURadT HX P

Correct Answer :-

« Change in a single base which has no effect on the protein / Thd &nwﬁqﬁaﬁqﬁlﬂmuﬁ?waﬂéquﬁﬁm

63) An open reading frame (ORF) is distinguished by the presence of: /

TP T T A (SNRTF) Su! SufRAf & Ry awmar o 2:

1. A DNA sequence encoding a protein / T IS BT Heai $R I8T SITAT SIehH
2. Start codon / T HISH

3. Stop codon / ®IT BISH

4. All the above / Grq?i'cﬁﬂﬁ-ﬁ

Correct Answer :-

¢ Start codon /Q’I’cc CARIE

64) To which one of the following is biopiracy related to? /

ISR o A @ o Te & wafta 82

1. Produce the gene of interest. / {8 SiiF Id1E HRAT

2. Modify an existing biosynthetic pathway. / I Sig I UY BT TR HAT

3. Prevent expression of a native gene. / IS SiiF @ fAeftee v

4. Traditional knowledge related to bio-resources. / gt ¥ e R EIG]

Correct Answer :-

« Traditional knowledge related to bio-resources. / G-I ¥ et IR I

65) ELISA is based on the principle of; /

ufere 59 Rigia R snutfia 8:

1. Antibody-resistant interaction / Qﬁaﬁﬁ-uﬁ@r%ﬁ 3fRfehar
2. Antibody-antibiotic reaction / Qﬂﬂﬁ-@ﬁ@% ufafear
3. Antigen-antibiotic reaction / TAeH-Sarifes ufdforan

4. Antigen-antibody interaction / gfcro-uforel siavferar

Correct Answer :-
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« Antigen-antibody interaction / Hldvi—-HIdR&ll Scxlen dl

66) Phelloderm and phellogen denote and respectively. /

P 3R (FeaisH) 3R RIS (Falel) HH: 3R & sy Fa 1
1. cork cambium, secondary cortex | BiD m’qﬁ, @?ﬂq Picaq

2. cork, cork cambium / ﬁ, Pib m

3. secondary cortex, cork cambium / f§d1d P, DI P IaH

4. secondary cortex, cork / g ﬁaﬁ Cacd

Correct Answer :-

« secondary cortex, cork cambium /@?‘ﬁq aﬁaﬂ, P PIETTH

67) In vascular plants, the difference between the shoot and root system is: /

Hag Wl 7, IRIE iR @ 97 & §9 $1 3R 8

1. Shoot system cannot undergo secondary growth / m SEEKIIS q@%"rs‘fm

2. Root system undergo secondary growth but do not form bark /qﬁaﬁﬁﬁwq@aﬁémmﬁwﬁ

3. Stem system do not have pronounced zones cell elongation whereas root system have them /Wﬁﬁﬁw & PIRIBI
Sieffenvor Tt g STefe g o A g @
4. Roots can store food whereas stem cannot /a%‘ WW PR gt % SEIEAEI :Iﬁw bl

Correct Answer :-

» Stem system do not have pronounced zones cell elongation whereas root system have them /T‘Fﬂ?ﬁﬁw asrﬁﬁm
Srefferzor TEF S STl qa A A g 3

68) Which of the following is associated with the female part of the plant? /
o o 9 1 91 1Y & Arer Wi § W6l 72

1. Microspore/ ﬂ%@ﬁf@

2. Anthers / TRTT IR

3. Antheridia / Qzﬁf‘\ﬂ%’&n

4. Archegonium / T

Correct Answer :-

o Archegonium / T

69) Which of the following serve as an important biofertilizer? /

o # A o 91 0P Aoyl Sa-SRe B awE HTH A1 82
1. Free living bacteria / Hdd CElIRE)

2. Cyanobacteria / B ERT‘T Eafﬂﬁ

3. Green manure / <1 9IS,

4. Mycorrhiza / ARDHIRISST

Correct Answer :-
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« Cyanobacteria / i<l glxd Xlgic

70) Which of the following is used in Whole-genome sequencing? /

gra-oi- 3rgspyur § o § 9 foryasT v fova St 82

1. Automated sequencing only /&ad ierd S{Ih AU

2. Short gun method of genome sequencing only / S STHHTT & I T fafy

3. Clone by clone method of genomic sequence only / SIS S{shH P FAA E'I'&; aa fafdr
4. Both options A and B [AHeq A 3R B !

Correct Answer :-

« Both options A and B [A%He A 3R B ST

71) Which of the following match is WRONG? /

Frafifed # 9 o149 91 v& & o 82

1. Pentose — ribose, deoxyribose / aa\_ff - W, %ﬂm

2. Hexoses — glucose , fructose / TR — W, Thac el

3. Tetroses — erythrose, threose / m - Qﬁm, R

4. Disaccharides — galactose, pseudo heptulose / 313@%3_6' - m, Fl@f %@Eﬁ\_ﬂ

Correct Answer :-

 Disaccharides — galactose, pseudo heptulose / 313%33 - ﬁéa?ﬁﬂ, W@ %@jﬁﬁ

72) Which one of the following process is common to fermentation process and aerobic respiration? /
7 & 9 o1 9t wfsan fosvas ufsear oiR sifwRita 4= & w9 81l 82

1. Citric acid cycle /ﬁﬂ?\?ﬁ SANCETD

2. ETS /109

3. Oxidative phosphorylation / i IHRUNt TRBRIRH

4. Glycolysis AGIECINIEEES]

Correct Answer :-

« Glycolysis / TAZPITCIRIT

73) Which one of the following organisms is scientifically named, correctly printed according to the International rules of
Nomenclature and correctly described? /

AT & SFaRTga Frawl & orar, Fafea & 4 19 @ ve sia & denfre = fear man 8, w8 ove 9 fife forar
AT 3R IUPT Y& aRE ¥ aui frar mar 22

1. Potato and brinjal are two different genuses but belong to same species / 3'[1?1'\3%? ST G STeT-3raT 3 § Afde g whiwfier
Homa gl

2. Triticum aestivum, the common wheat, comes under class Dicotyledonae / g‘kﬁw QE@EITL qH ﬁg"aﬁ Glﬁaélé ferst A
TS

3. Panthera pardus, an Indian leopard, comes under genus Felis /TR URSY, Udh ‘-ﬂ??ﬂ'qé’fﬂ'[, I Tferg | 3 %I
4. Musca domestica, the common house fly, an Arthropoda / Wm, g ‘a’{qqﬁﬂ, U dieurg
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Correct Answer :-

» Musca domestica, the common house fly, an Arthropoda / Wm, HHE mrﬁ{_ﬂ, U gieurg

74) Which one of the following would belong to the domain Prokarya? /
A @ *19 91 v SHF MierRar § Yefyd ghm?

1. Photosynthetic plants / IIAN® UIY (HIRIRIARS wic)

2. Multicellular animals / S§IIRIBT Sig

3. Multicellular fungi / SgHIRIBIT HAdh
4. Thermophilic Arche / ATIRTT 3¢ T (YATBIAS 3Mfh)

Correct Answer :-

« Thermophilic Arche / ATIRTT 3¢ T@ (YHhIc® 3Mfdh)

75) Which one of the following strategies will be most effective to prevent the seeds from germination? /
el &Y SipRur § A & fog P & | i I i Tax siftre gyt g

1. Prevent imbibitions /3{d:XNHUT AT

2. Prevent desiccation /SI¢] {Sh+ BT

3. Prevent fertilization /ST T

4. Prevent dispersal / oo A

Correct Answer :-

« Prevent imbibitions /37c: 20T AT

76) Which one of the following statements is NOT a characteristic feature of Phaeophyceae? /

re § B9 91 HYT BB &7 U Ry aaor 78 82

1. The plant body is attached to the substratum by a holdfast. / DS BT IRR Yoo gRI STYXR(EECCH) I NEIRGH gl

2. The plant has a stalk, the stipe and the leaf-like fond. /Y A Sod @Um, Qﬁﬁ (XC1=Y) 3R Ul & 3MPR & Bl-s G %‘I
3. The plant stores food as floridean starch. / a1 Yo ! TRIRTSSHTH T & ¥U § IfRid s %l
4. The cell wall is covered by a gelatinous coating of algin. | PIfRrepT fifRT & aTeR Ufee &1 frafe-h SR BT %I

Correct Answer :-

« The plant stores food as floridean starch. / UreT HIoH &1 TAIRIS 3 T & =0 T fed Sl %l

77) Which is the largest muscle of the human body? /
A9 IRR &1 G99 g1 O i W @2

1. Stapedius | wdifsaa

2. Gluteus maximus /mﬁm

3. Sartorius / ARCINTH

4. Masseter / AT

Correct Answer :-
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e Gluteus maximus / {¢iexd Ha1lH

78) Identify the site of photosynthesis in light independent reaction. /
THTR X U fshar & TehT=r SR yur & WIS $I Ugaig|

1. Thylakoid membrane / W%{Wﬂ

2. Thylakoid lumen / m@?@?

3. Stroma lamella / E,:TJ:IT PERE

4. Stromatal matrix / SIHTCd ﬁﬁﬂ:&

Correct Answer :-

« Stromatal matrix / IHICH m

79) Identify the sugar found in mRNA? /

TH 3REAT # Ui} S+ areft b1 ug=n=a?
1. Deoxyribose / %&ﬁmﬂ

2. Maltose / AT

3. Ribose / SN
4, Dextrose / éﬂ@g

Correct Answer :-

e Ribose/ W

80) Identify the WRONG equation from the following. /

g & § era It 39 FiA|

Glutamate + pyruvate- =2 Glycine+ketoglutarurate /
Transaminase

TOCTAT + IS0dC————DTCFHIA + HICIe[CRIC
CIATHTT

1.
NADH+ ¥: Oy = NAD+H.0 /
Cytochrome oxidase
NADH+ ¥ Oy = NAD-+H,0
s H AfedeT
2.
Pyruvate+COs +ATP-—— oo - Oxaloacette+ADP+Pi /

Pyruvate carboxvlase
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Glucose 6 phosphate-----—---—-——----2 Fructose 6 phosphate /
Isomerase

TEDIST 6 PRE > Thaelel 6 BITHT
HTSRART

Correct Answer :-

Glutamate + pyruvate--—-—----—-—2Glycine+ketoglutarurate /
Transaminase

81) Identify the WRONG match from the following pairs. /
15 gl & & T A9 o g

1. Gynoecium : Pistil / ISR : R

2. Cladode : Ruscus / FISIS : IHHH

3. Perianth : Tepal / qﬁ?ﬂ'ﬂﬁ - ORad

4. Ficus bengalensis : Stilt roots / PIgPH SR @ Sfaxy Hal
Correct Answer :-

« Ficus bengalensis : Stilt roots / Igh Y SO : aH T

82) Identify the WRONG match from the following. /
Frafafaa # & oa 7 o ggaH|

1. Secondary productivity = producers ) fediiaes SdTgHdl = STUCH

2. Desert = biome / THRId = S[dIH
3. Natural ecosystem = forest / W uiRfRufa®! i = a9
4. Decomposes = bacteria, fungi / SIUC PR-l= W, Hdh

Correct Answer :-

» Secondary productivity = producers / fediae IdTgdhdl = IdG®H

83) Identify the WRONG pair from the following. /

FrafafEa # 9§ Toa g e S|

1. Structural polysaccharide : Glycogen / Wtﬁm TARDIS
2. Purine : Adenine, Guanine /mﬁ_’{: Q@FI'IEFT, qEE

3. Pyrimidine : Cytosine, Uracil / fuRES: m‘s’aﬁ?, m

4. Heteropolysaccharide : Hemicelluloses /%Ej m: %ﬁfﬁﬂ@ﬁ

Correct Answer :-

« Structural polysaccharide : Glycogen / SRT-IHD qﬁ%‘l@mz TARD IS



o4) ldentify the fish in which males possess a brood pouch. /
I8 Toe Tgar, R TR & 3 Ive IufRua et 31
1. Sea horse / W@ET

2. Saw fish / 3IRT ATl

3. Sting ray / fawdw

4. Dog fish / ﬁﬂﬁﬁ‘ﬁ

Correct Answer :-

« Sea horse/ TSI €IS

85) Identify which property is NOT a part of all living organisms. /

g TurerH gg==R S 99 Sitfaa shta @ srftraeror TE 21
1. Homeostasis / Trfae

2. Cellular organization | PIRDG TS

3. Status quo / mnqa‘@ri?f

4. Energy utilization / ol BT IYAIT

Correct Answer :-

» Status quo / Hurqj@ri?r

86) Select the WRONG match from the following. /

= & & T A 31 g

1. rDNA = large scale production / \’rmm = a@; TR R RICICE]

2. Sticky ends = restriction endonuclease / R R = ufade Q@w

3. Vehicle DNA = cloning vector / aﬁﬁb_d @ﬁ@q = AT daer

4. Electroporation = vector less gene transfer / ST TR = FeBI Sii- QIR0

Correct Answer :-

o rDNA = large scale production / 3RBITAT = aé TAM IR IdTeT

87) Select the CORRECT statement about plant life cycle. /
a9 adt sy g

1. Plant life cycles are characterized by the alter nation of generations in which the haploid sporophyte give rise to a diploid

gametophyte. / UTGY Siia= deh Uifed! & HHIRUI §RT UgdM SIId g ol SAI WRIBIEE U G THchiEe Iad
FRAT S

2. None of the above K{cr!iaaﬁ | ﬁ'&p T8l

3. Plant life cycles are characterized by the alter nation of generations in which the diploid sporophyte give rise to a haploid
gametophyte. /JTEU SIIaH Tk Tifgdl & SHHTARUN gRT UG SIId & fore feford WRIthIse U SR fieiwge Sad
TRATE

4. Plant life cycles are characterized by the alternation of generations in which the diploid gametophytes give rise to a diploid

sporo%qyte. /Ay Sfia =eh Wifeal I HHARUN gRT Ug=M i & Fored fgagiora ffeiw ge ue fiafia wikivge Iad
BT

Correct Answer :-
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« Plant life cycles are characterized by the alter nation ot generations 1n which the diploid sporophyte give rise to a haploid

gamet%phyte. /Aty Sfia =eh Hifedl F HHARUN R Ug= S & o fegfora WiRitige tes Sryfid fRciwge 3w
Bl

88) In flowering plants, the male gametes just before double fertilization is formed from: /
guft urgul #, R g fo-Fioe @ id ted R a9 6

1. Microspore mother cells of anthers / URXIT DY B (_"I'ﬂzﬁ\_rlTU\I D DIRIBIS

2. Microspores / W

3. Vegetative cells of pollen / URTT P Il BB

4. Generative cells of pollen / IR & TSHD DIRIBIH

Correct Answer :-
« Generative cells of pollen / RN & YoHD HIRIBISA

89) Many plants show daily movement to maximize their capacity to absorb light energy. The daily changes in shape are
caused due to: /

P N TBT SHoll DI ST S # AU &1 D1 Sfrpaiied B3 & forg e nfd fiwm €1 smeR # 3fe
IR 5P SR IUH B 8:

1. Temperature changes in the environment /dITdRUT T aroH aRadd

2. Growth of specific cells /ATy PifRresTen @1 fawr

3. Contractions in leaf cells /ORI W IRTDHIS H REEE|

4. Changes in turgor pressure in specific cells / ﬁ&f@ PRI T Thid e & gRad

Correct Answer :-

« Growth of specific cells /[T BB H1 BT

90) Animal is fish like. They have all chordate features. Notochord extends the whole length of the body from head to tail
and it persists in the adult. Identify the animal. /

IO At t aRE 31 S Piaer b T} d&rvr 1 govsy RR & U8 9% IRR 1 I avars & el Wedl 8 iR %D
T g+t Tgdl 81 3 woll ot uge= B

1. Petromyzon / a—fﬁﬂ@ﬁ

2. Branchiostoma / STdp 3
3. Shark / Q&

4. Ascidia / TRYfSTT

Correct Answer :-

« Branchiostoma / éﬁ?&h@m

91) Give the scientific name of the ‘Sting ray’. /
Fore g1 (T 3y 31 AT M SR T

1. Pristis / Ui

2. Carcharadon / HRPBRISIH

3. Scoliodon / TPITCRATS
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4. Trygon / ¢ 1<l

Correct Answer :-

o Trygon/ QTCIThT‘[

92) Which of the statements about non-biodegradable wastes is CORRECT?

i. They are commonly man made.

ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.
iv. They do not accumulate in nature.

1 SrotafEieoi Ul & IR § S A YT FE 82

i. I TR wa A g §

ii. ¥ g&A il gRT Fefied &3 o wed 1

iii. o srtafrdteeoia oo wrer gaar § yaw wed § 3R Sa smad= #d 1
iv. 9 Upfa # AR 18 g1

1. iii and iv / i $TR iv

2. and iii / 3R iii

3.iandii /i 3R i

4.iiand iv / i 3R iv

Correct Answer :-

« iandiii / i 3R jii

93) Which one of the following statements about anaerobic respiration is WRONG? /
Frafifea # § sMiRlt 499 & IR & S 91 TP S T 82

1. Water is one of the by-products of this respiration. / SI¢] S Y b Tdh e g1

2. Energy released is less. /ﬁ'ﬂﬂ?{ ol &1 Bl % |

O, is notutilized during this respiration. / 3% & & G O DI IUAEN =g [cpaT ST
3.

4. It occurs in the cytoplasm. / g HIRIPI & H grelt g

Correct Answer :-

o Water is one of the by-products of this respiration. / SI¢] g Y H] Th I g1

94) For removing chlorophyll from the leaf, it should be boiled in .
T § FARIfea Ao & R, 39 T ISTT ST AR |
1. Alcohol / eIl

2. KOH solution / KOH faaa+

3. Water / Gl

: I solution / L. Tdorad
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Correct Answer :-

« Alcohol / TemIgld

95
) Whatis missing in the below mentioned reaction? /
Al Seeliad Tafchar # &=r ocd &2
Chlorophyll / eI Tt
i +12H0 »CsH12O5 + ii +6H,0
Sun light / TehTRT

i. 6CO, ii. KO
.0y i.COs
i. Glucose ii. CO; /1. FefbleTii. CO;

i.6C0O; 1i.60;

Correct Answer :-
1.6C0O,  1i. 60,

96)  The given picture shows: /

drr T aw ’F #F gt I g

il

A

1. Chemotropism / @Hﬂﬁ?ﬁ
2. Phototropism / EIWQFJ,E?T‘[
3. Hydrotropism / Gi?lﬁd‘cf?{
4. Geotropism /W@?ﬁ

Correct Answer :-

« Phototropism / UBTRITad

97
y C. plants are better adapted in wopical and desert areas because: /

C. Ui FeoTehfedefRr 3R YETAET & & 95X Ireigieid gl & i

1. The involvement of only bundle sheath cells / Faa Wﬁﬁm\?’h F1 sfquffirar
2. They conserve water for photolysis / q THTRISTEC & o STet URTad HRd g

3. They can perform a high rate of photosynthesis even when the stomata are nearly closed / 9 Y & ATHT de 51 IR H U
SECLUEIRE R CREARIN
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4. Stomata are not present 1n xerophytic condition / ¥ GIRIWISC vidxd] H SUIHd gl &ld|

Correct Answer :-

» They can perform a high rate of photosynthesis even when the stomata are nearly closed /9 I P TTHT &G g1 IR Ht U

IR T 3= &R fwnfed SRar 3l

A destarchedleaf on a potted plant was covered with black (4), white (B), and transparent (C) strips of
paper as shownin the figure. After six hours of exposure to sunlight, the leaf was removed from the plant

and tested for starch. Which one of the following will be the correct observation? /

TH I & U W SRTRIS Uodl B HIei(A), The (B), X Ireefi(c) &ereT & 92T & a@r
T IS BT AAA F TE W WA & @, el B AT I ger forar @ 3R wr & forw
q{aToT foodm 97| TAFT H & BT T Us el Tal WaToT B

Black strip  Whito strip  Transparent strip

1. Only B and C portions turned blue black. / PId B 3R C HFT a1 FIat 771 H 95 11

2. Only A and B portions remained colourless and the rest of the leaf turned blue black. / PId A 3R B YT ST B 3R FP! P T
Hdl Pl 1 H 954 TS|

3. A, B and C portions remained colourless and the rest of the leaf turned blue black. / A, B 3R C HIT 9 L 3R FrT BT TR A
BT I H 9 TS|

4. Whole leaf turned blue black. / @ i A P 3T H ged ﬂél

Correct Answer :-

« Only A and B portions remained colourless and the rest of the leaf turned blue black. / FHad A 3R B U a1 I8 3IR T DI
Tl e Pt T H FGd TS|

99) Nitrogen is always a limiting nutrient in many ecosystem because: /

e g B TR o & To At troe w2 2 it

1. Most organisms cannot use element nitrogen / 3eIehcH Siid de 7-113_@517-[ BT YA 5] PR Fhd
2. Element nitrogen is used by all organisms / dcd ?@‘@Tﬁ Tt Shat gRT SWHTd foedT ST §

3. By pollution the availability is reduced / TV ¥ SUTIAT HH Bl ST &

4. By the production of fertilizer the availability is reduced / SRS & Il J SUARI HH gl \_rﬂ?ﬁ%

Correct Answer :-

» Most organisms cannot use element nitrogen / SHIYHIH Siid I 3?’; S &1 SUART -Tg] R Tl

100) One of the statements made below about tissue culture is not applicable to it. Identify the statement. /
Fad T & TR A T T 1T Ty § & U 39 W Suge TE 8 1 FUT Ugai-a |
1. Many plants can be grown from one parent in disease free condition. /
T A7 G 3T H Tep ST A ST o Gev 21
2. New plants are grown by removing cells/tissues from the growing tip of the plant. /

0GR N B! I o J HifRp13N/Sraeh B geTdR IR W g
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3. All the characters present In the parent plant can be observed In the plantiets. /
S T8 H SufRyd T+t ef0r ureues! # <1 o Iohd g

4. This technique is commonly used for ornamental plants so that combination of desired characters can be obtained. /

g I JrAId: Tofiac] uel 3 forg Iuan &t St & S qifesd wiaroi o1 Taer i fovar s 9 |

Correct Answer :-

« This technique is commonly used for ornamental plants so that combination of desired characters can be obtained. /

g A1 MHFI: Joad! Urel P oI Suan & St & For gifesd <eron o1 Taiei U foram off 9o |
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